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031.

032.

033.

034.

03s.

036.

037.

038.

039.

040.

041.

Ep IR C T IR

Choose correct wh-type question to get underlined part.
Water is needed to sustain life on the earth.

(1)  Who is needed to sustain life on the earth?

(2)  Which is needed to sustain life on the earth?

(3)  Whose is needed to sustain life on the earth?

(4)  What is needed to sustain life on the earth?

Choose the proper alternative to fill in the blank.

The shopkeeper does not have the toys.

I was looking

(1) for (2) about (3) at (4) to

Rearrange the jumbled parts which are labelled P, Q, R, S to produce the correct sentence. Choose
the correct sequence.

The person

P : because he is poor

Q : work hard and efficiently

R : cannot

S : who is poor

(1) SRPQ (2) RPSQ 3) PQRS (4) SRQP
Choose the correctly spelt word

(1)  Micsllaneous (2) Miscellaneous (3) Micslleneous  (4) Miscellenious
Choose the proper article to fill in blank.

Ironis _— useful metal.

(1)  the (2) an 3) a (4) no article

Choose the most suitable ‘one word’ for the given expression:
A person who leads a simple life devoting himself to contemplation and meditation:

(1)  Altruist (2) Ascetic (3) Aesthete (4) Conservative
Select the correct cardinal number for the given:

A million -

(1) 100,000 (2) 10,000,000 (3) 10,000 (4) 1,000,000

Identify which part of the sentence has an error.

A. I was greatly astonished

B. when I came to know

C. that my friend is coming to see me

D. after a gap of about twenty years

1 C 2 A 3) B 4 D

Choose the correct passive voice form of the given sentence.
Why do you waste time?

(1)  Why is time being wasted by you? (2) Why has time been wasted by you?
(3)  Why is time been wasted by you? (4) Why is time wasted by you?
Choose the correct antonym of the given word.

Acquisitive

(1)  Miserly (2) Austere (3) Frugal (4) Ardent

Fill in the blank with the correct alternative.
Duck : Duckling : : Hare:
(1)  Cygnet (2) Todpole (3) Piglet (4) Leveret
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042. Choose the correct alternative for the given Direct speech :
“Oh, what a lovely day!” she exclaimed.
(1)  She exclaimed with pleasure that it was a lovely day.
(2)  She exclaimed that what a lovely day it was
(3)  She exclaimed with pleasure that it is a lovely day.
(4)  All correct.

043. Choose the correct alternative.
Heis_ for his evil deeds.
(1)  Famous (2) Celebrated (3) Notorious (4) Noted

044. Fill in the blank with the correct alternative.
Reading is easier __ speaking.
(1) to (2) for (3) be (4) than

045. Identify the mismatched pair from the given alternative.
(1)  Parrots - squeal (2) Frogs - croak  (3) Owls - hoot (4) Horses - neigh
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046. Choose the correct alternative.
He will not come, __
(1)  Ido not think (2) May think (3) I thought (4) Ithink

047. Find out the phrase which can correctly substitute the underlined part of the sentence.
I saw him make a wry face

(1)  Show disappointment (2) Feel sick (3) Abuse (4) Cry with pain
048. Fill in the blank with the correct alternative.

The doctor __ the patient from taking certain medicines.

(1)  banned (2) prescribed (3) prohibited (4) proscribed

049. Choose the correct alternative.
I : This tree is older than that.
IT : He is my elder brother.
(1)  Only I is correct (2) Both I and II are correct
(3)  Only II is correct (4) Both I and II are incorrect

050. Choose the alternative which can correctly substitute the underlined part of the sentence.
We should get to the cinema early not to miss the beginning of the film.

(1)  for not missing (2) in case not to miss

(3)  in order not to miss (4) No improvement
051. Fill in the blank with the alternative.

Thisisthe _ news.

(1) latter (2) latest (3) last (4) let
052. Choose the correct alternative.

Heran

(1)  quick (2) as quickly (3) so quick (4) quickly

053. Fill in the blank with the proper alternative.
As the festival approaches the number of customers

(1)  increases (2) will be increased

(3) s increasing (4) will have increased
054. Choose the correct alternative.

Questions will be answered by a__ of experts.

(1)  staff (2) band (3) panel (4) bunch
055. Find out the correct feminine noun of ‘Fox’

(1)  Foxen (2)  She fox (3) Vixen (4) Foxess
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Read the following passage and answer the questions selecting the most appropriate alternative.
(Que. Nos 056 to 060)

In large part determined by a person’s gense. In short, some people are more predisposed to be fat.
Moreover someone who was obese in childhood will have more fat cells than an average person. Once
made the cells may enlarge or shrink but they never disappear. Gense however don’t have to control your
girth. The size of your fat cells depends on you on your eating habits and life-style. There are ways to
keep them small : eat low-fat fibre-rich foods such as whole grain breads, vegetables and fruits. Chew
food slowly.

056. What one eats is an important factor in controlling weight because -
(1)  Fat is burnt faster than proteins and carbohydrates.
(2)  Proteins and carbohydrates use up more calories than fats.
(3)  Fatty food has very little calorie content.
(4)  Digestion is affected by proteins and carbohydrates.

057. Body weight can be controlled best by:
(1)  Doing exercises vigorously, every day. (2) Mild, daily exercise and a proper diet.
(3)  Fasting and vigorous exercise. (4) Dieting alone.

058. Some ways in which obesity can be controlled are.
(1)  Using the car occasionally. (2) Use of bicycle as far as possible.
(3) Making a series of small physical efforts.  (4) Totally abandoning the use of lifts.

059. What can we conclude about exercise from the passage?
(1)  Exercise helps only in controlling the body weight.
(2) It makes one more mercurial.
(3) It makes one more active and mentally positive.
(4) It is difficult to do exercise which is effective.

060. In determining whether one is going to be fat or thin.
(1)  Genes play a paramount role.
(2)  Adulthood alters childhood patterns drastically.
(3)  Eating habits and life-style make no impact on fat cells.
(4)  Fat cells formed during childhood are of crucial importance.

TSt

Y& AT I AT 99 3. 031 9 034 <t W oo uaiamg FAasr.

HETCHT Sfdel $ol TgUrdTd, A 7 o 9fas el 3178, a1 SOTdiel gaid afes HIvE. 31 Wsarell JAren
UTferTe HEwd hesd ATEl. 1 AT eXiiE WR 3. gy omfor Seumft Sfem wsamen w1 gt gd. stessit
IS g1 g Al Al FHISTET ¥ Sal. A weE gEll B ATal. SN S g =G 7S 71 e
reht A Tt IR gEit el TeasHt, fide 7 onfor wid g A 89 fwfor gra. Rfsfiar v graeTase
& HLdl, M1 HeheTar HId ohidl.

031.  foer=an wa, SPTE Eatd dfes WO Shiord ?

(1) <t w7 fdes o1 (2) =R A9 HAH ufas el 3TEd.

(3) St waf STl (4) <A W Gl 7.
032.  wgsaTen SR 9 "l HEHeS fHesd ?

(1) T a Icmft sfaamgss. (2) fiew 3 T SfeAmges.

(3) UMW 9 SIIER hedH. (4) TEATA IHATT HGd hed.
033.  orressft wqsr waT 31EAl?

(1) o sEre 3. (2) O THISTET A 3T,

(3) I g I GESTE A AL (4) < AU IS I HTerad.
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034. S wo@ wa SAies@Tan ?
(1) St gE==HT= B € <l
(2) @ Rifid sEeIH AR ST Heced Y adl.
(3) o weauH, fde 9 wd wATET ST,
(4) S Gyt IEd TEd:=A SRAsfierden quTea JER Sl

035.  ‘zacdia’ wregrn o feregenedf wrsg whivwaT?
(1) = (2) wed (3) FrucE (4) wRE

036.  o77ar ofis=ITl deaTd HIIHHATAT e Hedl.
I AR o IBEA goed] gl

(1) 9& &A1 - & &% . (2) RIHATAT - HRIHH

(3) ded - doid (4) QTR HIVTE Tk ATE.
037. ‘grEtErEl’ A1 weald Wieicieh! hivldT I1e Tal.

(1) =R (2) "E®” (3) &t (4) =St
038.  ‘gqu IrRUl’ AT ATHIERTET A I HIOT?

(1) T gEo (2) @9 WR <O (3) wuS your (4) o & aTEn
039.  gdieraehl ot 0 Tt A ?

(1) =& (2) @wE (3) g (4) Rt A
040.  ydierdehl 3 vreg HivT ?

(1) grEe (2) g (3) g (4) gHaE
041. gt Hivrean e Yeg “fopafaur A1 wregSTd e 2R ?

(1) =, vream® (2) wg, w=vH (3) AT, THS (4) =i, =@t
042.  gdierashl erqaTfed foaemor shrordt ?

(1) -9 (2) arEdt T&@ (3) et gEaeh (4) RvrEn T
043.  ydieriehl shivrea Tt fsRaTTe HeRdeh 3178 ?

(1) TEes! 9r el (2) 3 AT fETe.

(3) o =l eI TF @I (4) Y 3= guaTel AEd.
044. grdidfia stesr e UY hHIvar?

(1) foofay (2) fen-=fm (3) FHwRt (4) =kl ATE
045.  gfierdehl qui SduHehTSTel JTeR ShIvTd 7

(1) Tyl A1 WieaT 4. (2) WS TG Gied Bl

(3) Wy g @l (4) T TS WieaT IR
046.  gSTRTG g M7 UM ?

(1) 4,4, 9, T, T (2) 9,9,9,3 (3) 9,49, 9,9,T,7(4) 49,49,49, 9,9
047. gq rgufad Owd 4¢ GgaTd ey GreRit ged’ | A1 A TR ShivTar ?

(1) =9 (2) oy (3) 3u (4) 3cdem
048.  gdieraht 3fisa=r gui shivrar ?

(1) = (2) @ (3) = (4) =
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(1) it (2) gfean (3) STYHRIHT (4) 3w
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(1) Yeuar=eh 9 ATCHAS (2) T 9 qEvETES

(3) s 9 IMcHATEH (4) wEt T gE= I
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067.

ATAHTTHAINE d AEATYAMTE

T dTeTeh & 976 3T, o e wehne 9 eifgda Ffddt smd. crgan wiaesmed amifies, wHfde,
gt 9 RN WG Wiefiedehl STFaem=n hivrel FHEmaar foga Jamd ?

(1) @mergren fm (2) fafaed=n fem

(3) wrEEEn fRE (4) YE=n FHEE

A Tl geu AN 9 IR Jre 9Yad ST aid 3T8d. Wil foeiedn geshimed shive
TR Herd qRICT=n JwTE fegd i ?

(1) T@wE 9 gedl (2) YS9

(3)  Sgfemea (4) SredMT 9 RN T

haes THTA fedia g St wefies Tawdr=h aHfEes wfshan g @t daer 8. @Teft oo faammes
TaeAfawet v faem I g ?

(1) Hee & Beka STaiis Uishan TR,

(2) nueh T S qtd EdedT B,

(3)  Hdg=AT Sedid oFekdl g Hishd 3T

(4)  TagH kAT HATET T THWURY AR 317,

B A0 INIAHT HATGET @l GSIHR gl d A0 HeATET HIE gal, =quan T g e ggd
I BT o1 T@IE v STeedrEn Wi Bl @ Wielieiieh] STasiaTeaT hiven Sy e 8 ¢
(1)  itferar (2) sifufaes sfeaym

(3) fafsre ma:feufa (4) fafsrse wifaes aftfeerdt

g 3fedfia 7 BiaT TETeEn qaigyea gHessliad g0l TEUS IfoET B, @relt focten fqemmey S
foam wfomr afmes amg?

(1)  wfcmn fer smard.

(2)  AfqHrh diorar Fainel aREE 3TEd.

(3) yagveTE™ yfqur qIR g TTE.

(4) @d gfem aREm dgds i g,

JILANT heqTasshrel Hefl IUTsH e CUAETS! et Wieiicideh! Shivrd 3Ushy T ?
1) e d9bt fheal AR e =@,

q) Woredl HIEAHIqd Sheddl foshiEd SHuETeT Y ShUE.

%)  dIeudIed HEd .

)  euH Hievl Ted ATEl.

(1) &, 9, &% Bad (2) 1, &, S Bad

(3) &, 4, 3 %ad (4) 91,9, %, g

T e 7 aiguare fafay Sl sae T Jedted B TS ... .
(1) @rw (2) & (3) fmm (4) wom
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067.

CHILD DEVELOPMENT & PEDAGOGY

Every child is unique and an only and matchless creation of nature. According to this various
social, mental, emotional and physical differences in siblings are seen because of which of the
following law of heredity?

(1)  Law of similarity (2) Law of variation

(3) Law of regression (4) Law of repetition

Formation of a human being occurs due to the joint working of heredity and environment. Which
of the following is affected by environment only?

(1)  Nature and attitude (2) Age of maturity

(3)  Intelligence (4) Colour of eyes and skin

Sensation is the primary mental process occurring due to stimulation of sense organs. Which of
the following statement about sensation is correct?

(1)  Sensation is only an internal process

(2)  Sensation occurs only if we have the wish

(3) A Person is active about sensation

(4)  Sensation process is an inactive business of the mind

While searching for a lost coin we feel that a white round piece of paper is the coin, a faraway
shrub looks like an animal or man on a moonlit night. This happens due to which of the following
defects of illusion?

(1)  Familiarity (2) Geometrical optical illusions

(3)  Preparatory set or attitude (4) Physical causes

Imagery is revival of a previous experience without the stimulation of sense organs. Which of the
following is a characteristic of imagery?

(1)  Imagery is stable

(2) Intensity of imagery is similar in everyone

(3)  Imagery is not formed without previous experiences

(4)  All images are formed with the same intensity

Which of the following activities should a teacher carry out to give the students a chance for
creativity and imagination?

A)  Prepare forts during Diwali festival

B) Developing ideas through games

O Ask the students to play musical instruments

D)  Arrange an exhibition by students.

(1) A, BandC only (2) A, CandD only

(3) A, BandD only 4 A,B,C,Dall

According to Munn, arrangement of various aspects of previous experience in the mind is called

(1)  Memory (2) Intelligence (3) Thinking (4) Motivation
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068.

069.

070.

071.

072.

073.

074.

T TSHT THMTTHN Hged] ql ITHE HIRIRU Hae SSUITET S shedl STal. 3T, FIET ST JIeR)
3MTEd ATV 7 GHEd ATTE §IUTe SR & F1d. § Wefierdeh! e Sfshrdie shivre sTeveames gid.
(1) ufora u” (2) wehaeE =™ (3) A fEm (4)  Fleonda g

ROIETed Wi leTdeh! hivTd Sf¥TSesT IR T8 ?
(1) UTSUIS il U6 et HRUER GRUMH gid ATal.
) UHOT SUTEEAd FEA T ATICATAT Tk 13,
(3)  OROT USSR WA T ATIITAT e 3.
)

HAITTEIATA el T he T TSI,

(1) oo & agcar= gfshan 3.
(2) EEO AN TEUEEE S Msdt foreea aifger.
(3)  awon fSaht s foae T .
(4) g Sasht S foaes formror .
AT IOTSITela Wieiierdeh! whivrd faem e e ?
(1) fowar=h srers & stiafes Jwon 3R,
) 3Tafes Jon T Srfireeh T e dey IR,
(3)  SiicETEsh SR SN 3ATed.
) fipee &1 3Tidies RO qEn SR,

feger I gigaca=n fgues Iuucdined & g 9 fafdre ges oga cmedt @l foare
faummdet v faum g e ?

(1) IS FAFAHE M Teeh ST Tl

(2) IS AT IR Tew AT Tl

(3)  &HAET fohREeh ITET A U STl

(4) fomIY geh TE HEATA A IUFFd TE!.

“Tad.=A 9 satA WaWTeHTaR fRE dav 9 feme s amar, faem 9 st aree anteeHTETt
TG ST SHIUATE &TAT FaUIS WTaf-eh qafedl 8. & SATET Wiefierdeh! ShivTedT HHeIERH
feeht?

(1) eTehs o7 (2) TR AT (3) diex derredt (4) g MER

A Higdsl AR Hou bR o <=1 I8 Widl fooft 31gd. <= I Sie= sl W&
HI0TAT ?

3ETE HONET R
1) | fgema fammged 38 smea qu fsrr ol e ared, wg fam | 1) | ga-Te @ud
TEUAT= g=01 Higdd ATl
i) | qfSEdt SRR e Tl SEAT 9 A9 B0 TRl ST 9) | gd-gd wuy
1i1) | 3yrgrear ygrd @rE areal 997 Yierd S THeAHed Feh! dredl. %) | ThI-Tn! TEd
(1) i—-Aii-diii—°h (2) i—9ii—%iii—3A
(3) i-®ii—-diii—H (4) i—-9ii—-3Aiii—h
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If two things happen one after the other then one tries to find the cause and effect between them,
for e.g. A cat crosses your path while going to the examination and you fail. Your failure is linked
to the crossing of the cat. This happens due which of the following obstacles in thinking?

(1)  Prejudiced thinking (2) Coincidental judgement

(3)  Wishful thinking (4) Defect in observation

Which of the following statement about retention is correct?

(1)  Retention is not affected when poems are learned one after the other.
(2)  We can recall quickly if retention occurs in cognition state.

(3)  We can recall quickly if retention occurs in semi cognition state.

(4)  We can recall what is retained in non cognition state after some trying.

Which of the following statement about forgetting is incorrect?

(1)  Forgetting is an important process.

(2)  In order to improve memory, many things should be forgotten
(3)  Less retention, less forgetting.

(4)  More retention, less forgetting.

Which of the following statement about internal motive is incorrect?
(1)  Liking of a subject is an internal motive.

(2)  Internal motive and interest are closely related.

(3)  Motivators are internal motives.

(4)  Interest is the base of internal motive.

Spearman has given two factors i.e. General and Specific factors in his two factor theory of
intelligence. Which of the following statement is correct about it?

(1) General factor in every person is large.

(2)  Specific factor in every person is large.

(3)  General factor is supplementary for the development of competencies.

(4)  Specific factor is useful in all functions for a person.

Emotional intelligence in terms of being able to monitor and regulate one’s own and other’s
feeling and to use feelings to guide thought and action. This definition of emotional intelligence
was given by which of the following psychologist?

(1)  Alfred Binet (2) David Weshler

(3)  Peter Salovy (4) Howard Gardener

Following are given Lewin’s types of mental conflicts and its examples. Which alternative shows
the correct pairs?

Example Type of Conflict

1) | There is money in the Pocket enough to watch a film. Desire is to| A) | Yes - No - Conflict
give party to friends and also want to watch the film.

i1) | One doesn’t want to study for the examination nor want to fail in exam. | B) | Yes - Yes - Conflict

ii1) |One feels like eating favourite food but don’t feel like eating it| C) No - No - Conflict
because stomach is full.
(1) 1-Ai-Biii-C 2) 1i-Bii-Ciii-A
3) i1-Cii-Bii-A 4 1-Bii-Aii-C
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Tl 19 o9 fesreamE W goita 1T hetl Fogdl, O Well $ash U HeATel | 318 HFTA U FEUSI
................. TEU IV AR R,
(1) dmges (2) TRRICHAT (3) wfcggen (4) pawEHIR

T I YA JHd WM U< HhHUI il Ul cATge 3feh Tuse fAfvad TeRd semm
GhUUT AT I TTehTe AR el aF USd. & AT TR Tshivl 3qUcd] WTefietdeh! Shivre
HHEESTH HiSet ?

(1)  degcllos (2) s (3) =g (4) oiHeES

AIETETEANEY SN ATeTeh ANl d STl I TEHHE T g2 fohal 3Tqwa TS hed
Ud 9 A aduH foemussdaR TETen 3feuw fhdl  wed™ Hagd 3Mehe ol ST fehd el

gfafshan et I Te&T ... IEDIRCECH
(1) it (2)  ITcHETdIHT (3) GuRo (4) GuERH

foraTreEsdier sTareRT=a Wrafes foshETeTed Wielicideh! Sivd! o« I 318 ?
(1) 7o |9 YISTaR HLdrd.

(2) = IS AT TR STHATET 3TEd.
(3)  Fei-srfde smof s,
(4) Y13 ot TgE foea Ad.

HETAH ST M= Taganeiared @reficiishl Shivid! dTd SR 318 ?

(1) = foganeatt e I 318 .

(2) @ g fogaell swam.

(3) TSI oA JIRITETG HE USATd.

(4) = fageaiandt e A=l Tave .

“fgarcca TEUS TEa e IRl e o dfiserqul auTIieH B 3TEd ATl ShRUid SO
I T AT U SR sifer e s wfasfiar duet g ewft Safgadccar smen
WreATerdehl i aHaeTesH foef ?

(1) = & (2) S sy AT

(3) St u fhaw (4) <. &t demm

Fehed i TSR SIS A1 TAETe YHI HHl SeATE @ieiiedehl shivrar aimd fegd I ?
(1) drevea foga ad. (2) TATEST SAVTEd.

(3) et v foud. (4) ouaf feoR o= fomd.

AT YU IR SR ITTHHE @I TeTdshl IV Iqdcd =l THE BId T8l 7
(1)  9Yccd LI IUYedt (2) & Iudedt

(3) @I JTewE Iqdedt (4) mfeeh Wit aRmm

sreprefl Sreet e, @ e HEdl, STest I ST HLAl AT ST I Tererre 79T
HAT I LA HAl, & AfcET T FrHTiere AAeTTene 39! Wielietdehl shivTedT HIHHSIRERH
iged ?

(1) =g (2) =m (3) W (4) omgdd
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083.

When a student passes with less marks then he says that he had not studied for the exam but still
he passed and got these marks.

Thisis — type defense mechanism.

(1)  Identification (2) Negativism (3) Compensation (4) Rationalisation

Similar factors are transferred between two learning methods. But a more clear transfer of learning
takes place when the two factors are generalised. This theory of generalisation was put forth by
which of the following psychologists?

(1)  Pavlov (2) Bagley (3) Judd (4) Thorndike

In infancy period when a child accepts new ideas or experience in his present structure of thinking
and understanding and when according to present way of thinking the sensation and comprehension

of an event or stimulant is done or a response is given then ___ process occurs.
(1)  Orientation (2) Assimilation
(3)  Conservation (4) Accommodation

Which of the following aspect is correct about emotional development of children of later childhood
stage?

(1)  They learn by understanding the meaning.

(2)  The attention span of these students is unlimited.

(3)  They are aware of morality & immorality.

(4)  They rarely forget what they have learned.

Which of the following aspect is incorrect about slow learners?

(1)  These children have normal (average) intelligence.

(2)  These are moron children.

(3)  These children lag behind in studies as compared to normal children.
(4)  Diagnostic tests are necessary for these children.

“Personality is the dynamic organisation within the individual of those psychophysical systems
that determine his unique adjustment to his environment”. Which of the following psychologists
put forth this definition of personality?

(1)  Norman L. Munn (2) G. W. Allport

(3) G.A.Kimble (4) J. B. Watson

If the secretion of adrenalin from adrenalin glands decreases then which of the following symptom
is observed?

(1)  Manliness is observed (2) State of good health is felt

(3) A person becomes weak (4) A person looks stable in nature.

Which of the following theory is not included in the modern group theories of learning?
(1)  Theory of mastery learning (2) Field theory of learning
(3)  Social learning theory (4) Information processing model.

A learner picks and chooses from many environmental options, basing their decisions on their own
insights and past experiences. They do this through observational learning by incorporating and
imitating the behavior of those around us. This theory was put forth by which of the following
psychologists?

(1) Bandura (2) Bloom (3) Bruner (4) Ausubel
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31)  fafreas goadt fmio =g,

¥)  Toad foam oI amar fFEir s,

%) i faae g Fmior sgreh.

g)  OueE 3%hd wATEl Had FHmin sare.

(1) &, 9 oM = (2) s, gers (3) @ &MU (4) «,9, %, 58

Greerdehl v SfoamT 3fese 8 FHTeHsh, J=iies, sigfies i fashm geqq st snfor g
g 3faet foem ket e foshfed 0 3 @R ?

(1) 3 wfshamsreor gfaem (2) =afFama fowm gfawm

(3)  wmIfeeh STTcRfshaT femT (4) o dftada gfaem

Tref! fooiesn  S1e ufshaean Afvmseamaed Sivia afemesr I A ?

(1) oT=aFd g -Heh Hillghl Ted 3TEd.

(2)  gcdh IOl SIS eI hHild Tl

(3) TE gATE SAIE NG .

(4) T2 & Tge USRI WA IR,

ST HERAH el I BhEe Ug AUR FCH TEUI A . 3eft e wrefierdeht
IV AHETEH hefl ?

(1) hsaq (2) whi (3) gead (4) firowe

I HAHT ToREEdT 0 8% T3 TV @Iciicdehl hivfeal TSl HITd ?

) foementwed sifve=h fwfor s

q) SR e wH RUE.

%) hINCT HUTE HAHT Fehleal T ATCHATT HE S 3.

g) O AT STEhT AT TehT TSR A& <higd Hd.

(1) 1o (2) < omfur & (3) o emfr g (4) & =7for =

TIelt ST RN 9 HHENTER Il el feedn 3d. o I e=Ir= J2ig hior ?
3 El
) | ) | AT TRV SMATER FdTd BRI GUROT B,

i) | ggad q) | SISRE VN YA adaeed 8.

i) | eq %) | AT TN LTS AT S TreaHeiel U 2.
iv) | fipra 8) | 1w & e s AU fhar SR,

(1) i-h, -5 iii—3A, iv-4d (2) i—-31,ii—4d, iii—%h, iv—8
3) i-%,ii—d, iii—3A, iv- (4) i—-49, ii—3A, iii—%, iv—8

AN T80T TETe Yishad "8Teh SaehToIe] Hi-H =deh ATIEA M odeplgR dre TafTeh Tfishan
ST ATV B, g3 foreeneai desv Tredl I B, Welictdehl hivrd) are STfHeme 3emeter T8l ?
(1)  oTeFeaf=h et S Ad.

(2)  regFeaiT g rmRer i) SAfEHEE T Sar Ad.

(3)  IETIALATTAT THCHINGD FATd Igel U ANTHYTN T 7.

(4)  regFTeAiT AT FeRlt oAtad Adm.
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Which of the following competencies are important for creating studious attitude through effective
teaching?

A) Critical thinking competency

B) Competency of independent thinking

O Competency of wisdom and sense.

D) Competency of problem solving.

(1) A,BandConly (2) A, BandD only

(3) B, CandD only (4) A,B,CandD all

Which of the following model of teaching has the objective of development of cognitive angle
and development of inductive deductive competency of thinking process?

(1)  Information processing model (2) Personal development model

(3)  Social interaction model (4) Behaviour modification model

Which of the following characteristic of learning process is not correct?
(1)  Learning occurs through proper activity.

(2)  Every animal learns in order to live

(3)  All animals learn in similar manner.

(4)  Learning process is slow process.

‘Learning is slow behavioural changes that occur in an individual with the help of experiences.’
Which of the following psychologists put forth the definition of learning?
(1)  Frandson (2) Murphy (3) Woodworth (4) Guilford

Which of the following things should be done by a teacher in order to avoid plateau stage of
learning?

A) Create interest in the students

B) Decrease the intensity of motivators

@) See that the students do not acquire wrong habits during skill achievement
D) Concentrate either on speed or accuracy.

(1) Aand B only (2) Aand C only

(3) Aand D only (4) B and C only

Following are given some definitions of learning and their psychologists. Which alternative has
the correct pairs?

A B
i) [Munn A) |Improvement in behaviour through experience is learning
1) | Woodworth B) |Learning is experience based behaviour change
iii) | Gates C) |Learning means improvement in experience and behaviour
iv) |Sigoule D) |Learning is process that brings change.
(1) 1-Cii-Diii-Aiv-B (2) i-Aii-Bii-Civ-D
(3) i1i-Dii-Biii-Aiv-C 4) 1-Bii-Aii-Civ-D

“Conditioning means if one stimulus can elicit a given response, the mere pairing of it with
neutral stimulus results in the neutral stimulus also becoming capable of eliciting that response.”
Accordingly which of the following is not an example of conditioning?

(1) One can change the attitude of learner.

(2)  One can remove fear of a learner by conditioning.

(3)  One cannot change strange behaviour of the learners by conditioning.

(4)  One can imbibe suitable habits in learners.
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092.

093.

094.

09s.

096.

097.

098.

099.

100.

ot

10 =1 Frepivlt TEAHa shHH Jum=n A1ed Feniofl dwed=n g feadt?
(1) 14 (2) 13 (3) 12 (4) 11

Teh I HIE! Ao el fea@rd ol shiard. S’ AS= dea % 92 hefl; T o= W U oAy feaErh
e ydffen ged=a fhdt 92 giga ¢

(1) wea we 2) 3w (3) drew 4) §w
U T Hewld fodma wafs wiorar?
(1) Mufit C (2) xxVIRR IV (3)  xc 34 x (4) D= CD

Tt 1T seR 1= 9@ g, degl dEehel d fufHeder I=ara wieshiH duR S e, ®
TG €e &M o1 gl hielTd fehdl ST HiF 8IS ¢
(1) 40° (2) 45° (3) 150° (4) 165°

Qe SAehdieard [ | <A SRl STEUR §@AT hivid] 7
15, 26, 35, 50, 63, [ ], 99
(1) 80 (2) 81 (3) 82 (4) 83

88 Tl uite STEUTAT SBTERIA HIvdal AR fog TERR gt TN HAetedn SaTehd e s fohdl
Tl e ?

(1) 1442 (2) 14 (3) 742 (4) 7

Yt 1.75 M. A9 AU S HUATHIS! Tedl Uhve |, vefiean gt gival i SJesfaell; aX
I gualt gften TRt foshmoft STl @re 7

(1) 6 2) S (3) 10 (4) 11

TR &I 15, 11 3001 12 I 90Tl 3181, Tcdeh ddl ehl 4 3Td. @ o H&AT Wit qaiaiieh

SHIVICT T TTehed ?

(1) 660 (2) 1984 (3) 1316 (4) 2636
(6.5—3.3—2.5)2.25+0.25+3.2) _ fet 2

(1.8+1.4)(65-33)—(2.25+025)425—1.75)| ‘

(1) 1 (2) 0 (3) 2.5 (4) 3.2

T TBIhdl aTHEN STHUAT STATehd! HaMr=l aret 56 . & w4 42 . IR, X AN 9REl
RRIeg adestehd! IR IRETE FHde; T HGH aiedl I Srre &he fohdl =1, Hl. 3 ?
(1) 2135 (2) 3850 (3) 2352 (4) 1498
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MATHEMATICS

What is a base of sequential eight triangular number comes after triangular number 10?
(1) 14 2) 13 3) 12 4 11

Some workers completes a work within some days. If number of workers is increased by % times,
then how many times the days are required to complete the same work?

(1)  one and quarter times 2) % times

(3)  one and half times 4) % times

With reference to Roman numbers system, which is the contradictory option from the following?
(1) Mis divided by C (2) xxV is multiplied by IV.

(3) xcplusx (4) D minus CD

When minute hand is at twelve right angle is observed in between minute hand and an hour hand
of a clock. What will be the angle (in degrees) will be observed after one and half hour between
two hands of a clock:

(1) 40° (2) 45° (3) 150° (4) 165°

What will be the number at “[_]” place in the following number pattern?
15, 26, 35,50,63, [ 1,99
1) 80 @) 8l 3) 82 ) 83

What will be the length of a side of the square in cm. formed by joining four points on the circle
whose circumference is 88 cm?

(1) 1442 (2) 14 3) 7V2 4 7

Two ends of a rope having length quarter and nineteen meters are assembled at together at a point.
In how many points such a dual rope will be cuts in order to divide it in equal pieces having a
length of 1.75 meters each?

(1) 6 2) 5 3) 10 @4 11

When a number is divided by 15, 11 and 12 every time the remainder will be 4. What will be the
number from the following?

(1) 660 (2) 1984 (3) 1316 4) 2636
(6.5—3.3—2.5)(2.25+0.25+3.2) .

(1.8+1.4)(65—-33)—(2.25+0.25)(425—1.75)| °

(1 1 2) 0 (3) 25 4) 32

Length and breadth of a rectangular ground in a circular garden is 56 m and 42 m, respectively.
If four Vertices of a ground are on a circumference of a circular garden. Find the area of a region
excluding ground in sq. m.

(1) 2135 (2) 3850 (3) 2352 (4) 1498
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101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

Tferdre wTféeh oaq &, 10000 3T o AT HIfEh Jq-T<T TeaTde 3. AfeshT=aT HIfdeh T Treh
TG AT SaTea] g9 3T ; T |lod 9 e A=A }Ii¥h AaqATdie Bk fohdl T 3178 7
(1) %. 6000 (2) %. 4000 (3) %. 3750 (4) %. 2000

SHTE GAMT TAh! 18 T-IT FTer= STt. W JeI&d Ieshl 24 I d1eed; dogl 150 TN HHt e,
T g g fohdt e ?
(1) 18 (2) 28 (3) 22 (4) 25

IS ATl weplT= Je&A fofell 7
(1) 6 (2) 8
(3) 10 (4) 12

56 I THH A=A T ; q fohet JehR arear Adia ?
(1) 10 (2) 8 (3) 6 (4) 4

T 3T 1 T S fomdt ?
(1) 2500 (2) 2475 (3) 2530 (4) 2430

(9 @ 49), (11 3 111), (19 & 247), (21 & 85) 37fr (12 9 33) ATUhI HeHS HEAT=AT SHS= Tohefl ?
(1) w= (2) =M (3) (4) =m

Tk i HENTSE T Yharl omR. W e aff et g wivren At s ?
(1) gegam (2) ThaR (3) TRAR (4) =R

fafsrse wreRA=a %%Wéﬂﬂﬁ%ﬂ%%waﬂ?ﬁw%ﬂ %%W

L IERICIRETI %%Waﬁwﬁ?ﬁa@a;mwﬁwwﬁwﬁ@a?
(1) g (2) oTh (3) @t (4) o

1 I A sraar. g faum ot swoemerdt ar sEur=a el Wiefierdehl shivTeT ?

¥)  HIEHH dHH
%)  GOYS dH
(1)  waa ‘31 efifor ‘& (2) W @ Imfr &
(3) waa ‘o1 eomfor & (4) f=dt o7, @ emfn w
1 5 1 _
13+ (3—%)x0.24| = s
(1 5% (2) 1.59 (3) 1515 (4) 0.54
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101.

102.

103.

104.

10sS.

106.

107.

108.

109.

110.

Monthly salary of Savita is ¥ 10000. It is quarter one times the salary of Vedica. Vedica's monthly
salary is twice the Asiya's monthly salary. What is a difference between the monthly salary of
Vedica and Asiya?

(1) 6000 (2) <4000 3) <3750 (4) <2000

It is decided that among some boys 18 notebooks are given to each boy. But when actually 24
notebooks are given to each boy. 150 notebooks are fall short. Then what is the number of boys?
(1) 18 (2) 28 3) 22 4 25

Write the number of quadrilaterals

in the adjoining figure.

(1) 6 2) 8
3) 10 “4) 12

If 56 articles are to be distributed equally, then how many ways can they distributed?
() 10 2) 8 3) 6 4 4

What is a sum of all two digits even numbers?
(1) 2500 (2) 2475 (3) 2530 (4) 2430

How many pairs of co-prime numbers from the following?
(9 and 49), (11 and 111), (19 and 247), (21 and 85) and (12 and 33)?
(1)  Five (2) Two (3) Three (4) Four

In a certain year ‘Maharashtra Din’ is on Friday in the same year what will be the day on ‘Shikshak
Din’?
(1)  Wednesday (2) Friday (3) Thursday (4) Saturday

Of the certain amount, if % times 1s given to Ved or % times the amount is given to Alok or

itimes of the amount is given to Saniya or %times of the amount is given to Veena. Then
who will get the least amount?

(1)  Ved (2) Alok (3) Saniya (4) Veena
‘Rectangle is a ................. ” to complete this statement which of the following alternatives is more
correct?

A)  Parallelogram
B)  Right angled quadrilateral

C)  Rhombus.
(1) only Aand B (2) only Band C
(3) onlyAandC (4) All three A, B and C

Find the Value of : [1%4—(%—%) X 0,24] =7

(1) 5% 2) 1.59 3) 157y 4) 0.54
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111.

112.

113.

114.

115.

116.

117.

118.

IS TSufiaed TaR

E
BIUT=aT Sfedehtiard! STehIr=an
W A’ = fawg TR
IV 3T THA ? AlBlc!D
(1) E (2) F
(3) C (4) D
F

@ Yesmed ITRH 216, 126 @ 162 9@ 3Rd. 1 YSIdid Jeiel 99 @l e g i
I YAk TATd et wiTed fehell T meaTa ?
(1) 6 (2) 9 (3) 36 (4) 18

49.247 I1 G Idlherd == ifaes fohud erdterdia T Tunfes fehadi=an fordt ue R ?

(1) 10 (2) 107 (3) 10° (4) 107
Somiet T ST

n° = Terdi?

(1) 70° (2) 80°

(3)  60° (4) 90°

9 "t x 40 TH AR Tl HIGEAT el HUMEX HIYT IR TAThT TIR hedTd; O QA AT
TaTeRTe TR TR fomdt @l srEw 7

(1) 262 @ (2) 180 @t (3) 162 @t (4) 81 @t
(*=9x+20)| _ o s ; wx = Bedt?

(x—35) ’ '
(1) 4 (2) -4 (3) s (4) -5

Ferd hTEl 500 ¥9¥ fepAdi=an 9 wrdl 2000 ¥ fohAd=an Fier s™ae fUeia 30500 ¥9¥ 378d;
= et @refiar s 500 T3 fehmdfi=an fopdt Aier 31 Srehdier ?
(1) 23 (2) 39 (3) 43 (4) 49

TSI ShIHTET Gehehd TN hifeehia Trean A=l oIS 200° 318, & 1 A w1 Tt ?
(1) 35° (2) 45° (3) 55° (4) 65°
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111.

112.

113.

114.

115.

116.

117.

118.

In the figure aside is a open structure of E
parallelopipe box. What will be the

letter on exactly opposite

surface of letter ‘A’?

() E (2) F A|/B|C|D
3 C 4 D

F

Three boxes contains respectively 216, 126 and 162 notebooks. If three bundles of equal numbers
of notebooks are made. Then how many maximum numbers of note-books each bundle will
contains?

(1) o 2 9 (3) 36 4) 18

In a number 49.247, how many times the place value of 4 at extreme right than the extreme left?
(1 10? 2) 10? 3) 10° 4 103

In the rhombus in adjoining T
figure. What will be the

value of n° ?

(1) 70° (2) 80°

3) 60° (4) 90° 5

Rectangular color paper of size 9 cm x 40 cm. is cut diagonally into four triangle shaped pieces
1.e. pataka. What will be the total perimeter of two largest pieces (patakas) so formed?

(1) 262cm (2) 180 cm (3) 162cm (4) 8l cm
ir |G (;9165“)20) } = 0 then x = ?
( 4 2) -4 3) 3 @ -5

In a bag there are some notes of ¥ 500 and some notes of ¥ 2000 denominations. Total cost of
notes is I 30500. Find the total number of notes of ¥ 500 in a bag.
(1) 23 2) 39 3) 43 4) 49

If sum of the measures of supplementary angle and complementary angle of an angle is 200°.
What will be the measure of an angle?
(1) 35° (2) 45° (3) 55° (4) 65°

Q.B. Series - 901 Sindhi (Set - A) 23 of 32

o
&7
7

Rt
ST

23V,
S

928V,
e

:U

=

el

et
VSTANSTH ek \oeh

=

\P/
73

=

sZRtezstazsamsy
ST ST

€



.....................................................................................

24 of 32

=

3.5

(4) 885

(4)

e feremef? sufeerd

|y s1&merR
TATT: 1 g

=

(3)

nfg=mean Iufeordi=an 9. fordie Sq =R ?

A

10
3\

-

AT

(2)
(2)

100
1UVU
[oXaY
oV

70

Y
20
JU
40
U
20
JVU
20
~\J
1.0
1Y

1
11y

Th

. 119 T 120 FIAT: ATor@T™ A8 S diear.

ZA\S G S LA\ 8 S\ A\ \$ LAV
S o e R R TR e oy et

OO O0) OO0 FO0) OO0 OO0 o0 o0 g0 do0) o) doe)gde

fonct afg=ama faeneai=h 2. Sufeydi urm wig=ndial 9. sed) Sufeardiuen s 3R ?

Flaeier Afg=are forenefl ufeerd

(1)
(1)
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Note: Instructions for Q. 119 and Q. 120
Observe the graph given and answer the Q. 119, Q. 120

Y |
100 Scale izt
777777777 T b bbb ] 1]On Y-axis-Attendance Percent | |
lem = 5% |
On X-axis - Months 1
QO | | {
VU
O
(o)V)
70
AV
)
=
18
2
| zzze il D)
-
o
i O
3
o
g
e O
£
BRI i R i fmmimiasiin o mmimmiinidn o REiimiimiai i
—r | 464

i

Sept..m;..m 15 HIH MY G Fe

3 5 0} | Junet .t July} b JAugd

- Months -

119. By how many percent more attendance of a students in the month of October than the attendance
in the month of August?
1 1 8
() 11g 2) 10 ) 125 4) 88y
120. In how many months the percent attendance of students is less than the average of attendance
(percent) in the five months?
(1) One (2) Two (3) Three (4) Four
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

qRER 3%

ARAT=AT HeWid I 3{qamame Sioigs hivdr ?

(1) 3Hel 99 99 TS IARMUIRE HT =T CETeAT Sashaeia
(2) WU HIBIET ST TS TSN bl

(3) WU HTIET $HT AT TR Iashiadd

(4) U ¥ Y9 ST AAHMURE o T TATAT AT AdhIAd

GreATadeh! I faem o ?

) BT Hehdlal G dehd @ weurar.

¥)  ESWI g AigAiGe! A1 Gal TSR AaRNHeS FHH dfyrset fogd et
%)  BSWI 9 HigAslge! &l al-al el TS TfhedMId. 3Ted.

(1) e ‘o1 emfor ‘9 (2) wFa 9 Imfr &

(3)  wea & ofor ‘o (4) fa=dt o, 9 anfor &

A Ikl AT JigH™ HHa IV ATEH ST STl ?

(1) = et (2) =W 3taeH (3) Fsigtea @4 (4) AN
TrererTesTa fegdt TeorT=m= /AT W g Y /feehmr g vt shivrar ?

(1) wHAlChIdI S&TE (2) RAR 9 YRETS

(3) e dear (4) voE 9 AgUs

‘BAY RIS HERIS @ SAIedT Heshl=aH1 e[ Sicid 3TTed. 3T81 SE hedd ehivll hIeTaHT ohall 3115 7
(1)  wgrean Sifden B (2) gewoIH R

(3) Udgmy TR (4) WO TRIE.

eI ARATe Ufgel STRERGE hIveal Saehld IWRS et ?

(1) Y (2) wreE (3) waUE (4) =t
AU e wgrrer: feAdt - aned Tmew 7

(1) oo (2) <= (3) =THe (4) Trawees

‘e SATIean Aaehi=l /Agehr=are fUcaraE shicsst Ba’. A1 Tl Heferd Tqsdiehtor e feenestn
fSreres IO TR 2UR AT ?

(1) e T (2) FRIST Y (3) ST TR (4) i HRTE
TR Fed ‘TRt 3 GeiUd /9e Shivean SeTs Heiid 38 ?

(1) Hrsees (2) dmIEE (3) <mHEREH (4) @@
AT HAUHHER STeliel JaaTdeh! Sivral Jad TR T8 ?

(1) oieaTaTE AfHR (2) &M I AERidH ATTHR

(3) TdgHTET AR (4) =TCHS IJUTIASHTET FTHR
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

ENVIRONMENTAL STUDIES

Which of the following is the era of ancient history related to India?
(1) 8™ century BC to 10™ century AD.

(2)  from stone Age to 8" century AD.

(3)  from stone Age to 10" century AD.

(4)  from 8th century BC to 8" century AD.

Which of the following are correct statements?

A)  Harappa civilization is also called as Indus civilization.

B) Both Harappa and Mohenjodaro civilizations showed similarity in historical remains.
0) Harappa and Mohenjodaro both cities are in Pakistan now.

(1)  Only A and B (2) OnlyBandC

(3) OnlyCandA (4) A,BandCall

What is the ‘Intelligent Man’ from the stage of development in human evolution called?
(1)  Homo habilis (2) Homo erectus
(3)  Neanderthal man (4) Cro-magnon man

Which of the following area is not an area of Hindavi Swarajya in times of Shivaji Mahara;j?
(1)  Belgaum in Karnataka (2) Karwar and Dharwad
(3)  Vellore in Tamil Nadu (4) Mysore and Madurai

Which of the following person has written a poem about an imaginary incident in which Shivaji
Mabharaj talks to his associates?

(1)  Mahatma Jyotiba Phule (2) Subramanyam Bharti

(3)  Ravindranath Tagore (4) Sarojini Naidu

In which century was the first Navy of Medieval India established?
(1)  Fifteenth (2) Sixteenth (3) Seventeenth (4) Eighteenth

Chatrapati Shivaji Maharaj : Shivnery :: Samarth Ramdas : ?
(1)  Sajjangad (2) Jaamb (3) Chaphal (4) Shivtharghal

“Shivaji Maharaj cared for his associates like a father.” While explaining this to the students, a
teacher will not give example of which of the following person?

(1)  Madari Mehetar (2) Kanhoji Jedhe

(3)  Prataprao Gujar (4) Baji Ghorpade

The Post of 'Bargir' was associated with which of the following division in the army of Shivaji

Mabharaj?
(1)  Cavalry (2) Infantry
(3) Navy (4) Intelligence Service

Which of the following is not a fundamental right according to the constitution of India?
(1)  Right to Freedom of Religion (2) Educational and Cultural Rights
(3)  Right to Vote (4) Right to Constitutional Protection
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

fPUM 15 9 AT 45 HeEIETAT Hiveal LT IMET HEIq 378 ?
(1) RY=md (2) =TI |ftd (3) TG (4) umY=TRd

Tl T TsaaTerent gefed fagma ame shiord ?
(1) TSI geATchs JIE 3THdm.

(2) TSI HEBR YgE@ THdr.

(3) TSATETEle SRt 3TEdATd.

(4) TSI ISR HSBIA THES TEdT.

TIAT YT TEUIRT U ShIOTT ?

(1) «=d (2) UrAHTSET (3) =TT Hig (4) wrTiE

U TATE el § e T el et g ?

(1)  SREw (2) TR (3) T IWH (4) Safafaear sam
HERTSIIA Helg! et I TGS Y@ AMCaTE! ST hIvre ?

(1) PRP-ar (2) aRet-hHoT (3) hrw-firea (4) frea-=zp

‘IS ga AT YehreAT o JAftrees /ured FHuR fagm wielid gl v ?

(1) cHfce Gehr UG B a1 Yot Ffidt gia.

(2) fefhE, WHEe AT UehgeAT e il T UTed Bl

(3)  oft e STl & SIEd STEd.

(4) = geen TR R Mo gar TE Tevdnd.

TERTSCTA e &= foam idl Team=Iael Jafied Jear= ey gdaid Jed 9 gard
it 31ft At guifaomy vt hiordr?

(1)  hretar-3udn (2) HIAET-qAd (3) ferdr-sumn (4) fodr-aqama
GTelld TRl @ Jfmes v ?

(1)  oTsft oo (2) <ie FEE

(3) ¥ WA TS geada (4) 0° @ga o fagees

Tem a1 TEH ST AU TSI ShIovrdT ?
(1) o<iErTs A= gieqor wiT Tfor STifsem T Ihcy 9

(2) SETS TSR HLIWTT AT nfSen Tar=n ufyam 9
(3) ¥ R
(4)  wHAleHT U8R

‘TEre At A1 WAt JehrIRft Teferd @l @refierdshl shivre ?

)  THME YHRA HiSA JHONR fordfivl &mma Sdel S ik

d) A d UREesTEl SIEdid S 9Ta

®)  HFifed ATEERERT

(1) e ‘o1 emfor ‘9 (2) wFd ‘& Imfr ‘&
(3) wwa ‘o1 emfr ‘F (4) fadt ‘30 9 snfor =

Q.B. Series - 901 Sindhi (Set - A) 28 of 32



131.

132.

133.

134.

13S.

136.

137.

138.

139.

140.

Which of the following local government has maximum 45 members and minimum 15 members?
(1)  Nagar Panchayat (2) Panchayat Samiti
(3)  Municipality (4) Gram Panchayat

Which of the following aspect, related to the Governor, is not correct?
(1)  He is the constitutional head of the state.

(2)  He is not the executive head of the state.

(3)  He is appointed from the other state.

(4)  He is not included in the executive committee of the state.

Which of the following is not a fibrous substance?

(1) Bajra (2) Leafy Vegetables

(3) Bran (4) Margarin

The group "Pench, Navegaon and Chandoli" is related to which of the following?
(1)  Protected forests (Sharanvane) (2) Sanctuaries

(3)  National Parks (4) Biodiversity Parks

Which of the following Adivasi tribes are found in Sahyadri Mountaineous areas of Maharashtra?
(1)  Korku-Warli (2) Warli-Kokana  (3) Kokana-Bhil (4) Bhil-Korku

Which of the following is not a characteristic of "Black Soil"?

(1)  This soil is formed by the weathering of basalt rocks.

(2)  The black colour of the soil is due to presence of titanic ferrous and magnetite elements.
(3)  The capacity of water retention is more.

(4)  This soil is also called as "Regur Soil" or "Alluvial Soil".

Considering the irrigation area in Maharashtra which of the following pair of irrigation means is
the pair of most used means and least used means of irrigation?

(1)  Canal - Lift (2) Canal - Tank (3) Well - Lift (4) Well - Tank
Which of the following is a characteristic of latitudes?

(1)  Parallel to each other (2) Similar Lengths

(3)  Prime meridian means largest parallel (4) 0° latitude means equator.

Which of the following is recognised by the name of "Maidan"?
(1) Southern part of Chattisgarh and south-west part of Odisha
(2)  Central part of Chattisgarh and western part of Odisha

(3)  Eastern Plateaus

(4)  Karnataka Plateau

Which of the following are related to "Intensive Agriculture" a type of farming?
A)  Farming done in vast area where only one type of crop is taken.

B) Maximum use of human and animal labour.

O) Limited mechanisation.

(1)  Only A and B (2) OnlyBandC

(3) Only Aand C (4) A,BandCall
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

TS s AN (S ergrdiel Riedien Te v ?
(1) -gEr-93 (2) SemE-dEEs (3)  SW-YETER (4) 3o-gag

GIEATEROT T (Aee) Jreaeht foEd oe @iefla gatadehl shiord ?
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Which of the following group of districts of Maharashtra lies adjacent to Gujarat border?
(1)  Nandurbar - Dhule (2) Jalgaon - Nashik
(3)  Thane - Palghar (4) Thane - Mumbai

Which of the following is not a characteristic of Pisces class?

(1)  Some fish have longer life span.

(2)  Some fish have shorter life span.

(3)  Their heart is made of three chambers.

(4)  Body temperature changes according to the temperature of surrounding.

Which of the following is a group of contagious diseases?
(1)  Anaemia, Scurvy, Ringworm (2) Ringworm, Eczema, Uremia
(3)  Scabies, Ringworm, Goitre (4) Scabies, Eczema, Ringworm

What is 'Bone Meal' made from bones of dead animals?
(1)  Fertilizer (2) Gelatin (3) Insecticide (4) Medicine

Which of the following nutrients are necessary for body building of humans?
(1)  Carbohydrates (2) Fats (3) Vitamins (4) Proteins

Which of the following helps in the process of clotting of blood in case of wounds on the body?
(1)  Blood capillaries (2) Blood platelets
(3)  Lymph vessels (4) Blood corpuscle

The sky appears blue when we observe from the earth. Which of the following factor is responsible
for this phenomenon?

A) Atmosphere

B) Scattering of light

(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

Generally non metalsarenot .
(1)  Ductile (2) Maleable
(3)  Brittle (4) Good conductors

Following are given reason (cause) and effect statements. Which of the following alternative is
correct considering the statements?

Reason : A) Water is a compound

Effect : B) The properties of water are different from the properties of hydrogen and oxygen.
(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

The 'decomposers' a factor of the ecosystem perform which of the following function?
(1)  Assimilation (2) Transfer (3) Excretion (4) Osmosis
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